= AH O
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20108 = 204a =XE EESAH A
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- 3,521,385
FIAE &= Y FXHEAN S (Z=UE SE3AH) 4,003,385 2,337,805 1,665,580
Al 482,000
- 3,521,385
FHINESZ=RE 20 & 22l 399,523 360,830 38,693
101 ol 24| 13,846 12,050 1,796
04 JIZHIZ2 RS2+ 13,846 12,050 1,796
O =xd 282% 12,587
- o129 46,7893 216 10,107
- R3EFLY 46,7892 x53 2,480
O 4 282 12,586, 2402 *10% 1,259
201 Bt23d| 23,918 8,740 15,178
01 AF222|H] 23,918 7,420 16,498
(ORPSE=E=pyE] 330! 20000 * 122 792
O XA 90,0002 38t A %128 3,240
O ZOH(HCAEIA) 33,000& x5 x12& 1,980
O AZ2HHIZ=X 5,500 x 1003 x12& 6,600
O QHHE WA 200,000 «109H 2,000
O 4ol =2y EU 270,000 «5J4 1,350
O FXLS Aot ZHE2E
22,100,000 3%+ 12& 7,956
307 QI2to| A 318,240 311,040 7,200
05 DI2IRAES 318,240 311,040 7,200
O FHNHEES(IY) FUHE UARESLT
530,400,000 *0.6 318,240
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O DIFXAIY(BSESI) CCTV QEY ALEE
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O DREIAY(B2ES) CCTV HI123
7,0002 «2CH * 12 168
203 YRFAY| 850 1,000 A150
03 AlZEXYDETH| 850 1,000 A150
O Fx& =592 S =1 850
307 QI2t0IH 60,000 60,000 0
Al 42,000
3 18,000
02 QIZHAEE 60,000 60,000 0
O DRIZEIAIY (OHEIHT) 60,000
Al 42,000
= 18,000
A2 BEFNE AM 572,000 499,500 72,500
Al 400,000
= 172,000
401 AlEHIL 2O 572,000 499,500 72,500
Al 400,000
2 172,000
01 Al&l 570,000 498,000 72,000
O ARDBSTUE EXNMHY L AL A 570,000
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= 171,400
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O ARSBEFNE EX ZFBIILLE 2,000
Al 1,400
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O =Fxcs 2298 5024 10,0000H x23] 1,000
O =Fxs 82 42 100,0008 1004 1,000
O =AY ANMSEA 55,0002 +508 A 2,750
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20000021 *45 * 128 9,600
O VRS DARENAN 38 =
200,0002! +63] 1,200
O ZHXSSAR 238 Ze Zele U
200,0002! x4 *63 4,800
O TRl =8 200,0002 +63] 1,200
O =SS X (A3) 40,0002 x5 & 200
O FHIUSE FDH(MX) 17,0002 *102 A 170
O Jtoiet g2l 3,0002 *50JH 150
O Jtmi2t M 22I3t=(128M) 40,0002 +504 200
O Fxesg 52 1,000 x60% *2} 120
O =xc&s Zye 20,0002 * 154 300
O FHINLEQH 22 70,0002 *10Z *33 2,100
O FHXNSEQA 51 50,0002 *10% =23 1,000
O =HUUELH Yit= 70,0002 *10% 700
O =FX=d 2X 7.,00024x3024 x23] 420
O =Fxc=ed 29 30,0002 *10% 300
O Or ZFX cags S2 34|
7.,00021 x6% 06 4,032
O =Fxt o302t 2yl
100, 000! *7CH x23] 1,400
O #28 ZRY FHEHS 2249
50,000 *3% x252 3,750
O dolxte Axz 1,800
O dlxzeas X2 1,000
O Aoz 2 ZE| 1,200
zzegl 44,672
O LAULEIHHKE) AEUNER
176,000 *6LH 122 12,672
O RoHZIHeH(+8) YHUAER
50,0002 *50H x 122 3,000
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1,000,0002 *11CH 11,000
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- 33 88,000 x4H x12& 4,224
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- Aol o2 H] 2,000
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401 A& HIZE0HY] 83,000 40,000 43,000
Al 40,000
- 43,000
01 Al&H| 83,000 40,000 43,000
O SYUFHY LAY (DHE) L1 AL
40,000,000 204 A~ 80,000
Al 40,000
- 40,000
O CCTV &at=tAl £=2|H] 3,000, 000& 10 2~ 3,000
I QY DEHR PV DS 221,025 226,435 A5,410
101 @124d| 27,691 12,050 15,641
04 JI2tMIZ22XNHsE 4 27,691 12,050 15,641
O =3X fBtlEiE dEgdels EX 27,691
- o2l 46,789 x216 2 x2 X 20,213
- SSs52 46,789 x53 x2H 4,960
-4 BE= 25,172,480 *10% 2,518
201 LEt2AH| 183,580 205,093 A21,513
01 AIR2t2lt] 44,980 62,093 A17,113
O dolMd T2y &Y 270,000& «53| 1,350
O LEHE DX A 70,000 x4568F A 31,920
O XA = 172 x630, 0000H 10,710
O UFUYALASE EZEAN 70,000& x 108+ A 700
O 2sids 2 == 3,000 *100A4 300
02 22244 138,600 143,000 N4 400
O XA 8= 2202 630, 000A4 138,600
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02 QItBAE X 2,000 0 2,000
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01 ML 2EH 300 0 300
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ol Bl 2,409,204 843,658 1,565,546
801 0iltlYl 2,409,204 843,658 1,565,546
01 oldlbl 2,409,204 843,658 1,565,546
O oldldl 2,409,204
HY2IHH (LS8 587,571 411,092 176,479
HA2IGHI(FE S 547,747 382,676 165,071
OlFA2HH|(FXHE 547,747 382,676 165,071
101 eIl 523,207 366,776 156,431
01 2 288,325 319,816 A31,491
O 3= 266, 146
- 6= 2,595,300& x2H «12& 62,288
-7= 1,862,700 *1Z 123 22,353
- 8= 1,154, 4003 x1Z *12& 13,853
- 9= 1,139,200 1« 123 13,671
- J|s8= 1,948,900& x5H «12& 116,934
- JIs9= 1,543,600 x»2H +12& 37,047
O 0= 22,179
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O MEHsHIBXEH 2,287
- &8st 62,400& x2H *43| 500
- 188 446, 7003 x 1H x43| 1,787
O d2x=2ora2 14,040
- 208 0| &t 100,000& x8H = 12& 9,600
- 15E 014 204 0] 2t 80,000& x1H*12& 960
- 5@ 0l4 104 0/2¢ 50,000& x3H x12& 1,800
- FIIH2 1,680
25 0] & 30,000& »3Y «12& 1,080
209 014 15 0] ot 10,0003 x5 x12& 600
O s3I 3,832,462& 3,833
O SExg2a2Y 480
- ANSsSHSdE 40,000& x1H «12& 480
O A2 R 29,577
- 62 8,312& x2H *30A| 2t 128 5,985
-72 7,4573 x 1 *x30A| 2tx 122 2,685
- 82 6,682 x1H*x30Al 2tx12E 2,406
- 92 5,993& x1H *30A| 2t 12& 2,158
- Jls8= 6,682& x5 *30A| 2+ x12& 12,028
- J|s9=2 5,993& x2H *30A| 2t 12& 4,315
O FHzgAlH| 130,000 x 12 =12 18,720
O Ws2Z&H| 17,640
- 6=2~73 130,000& x3H = 12& 4,680
- 82~9=2 120,000 *2H *12& 2,880
- Jls8=~Jls9= 120,0003 *x7H = 12& 10,080
O YESIHI 266, 146,000& / 12& x60%*23] 26,615
O IJHAHXI &b 266, 146,000& *16.7% 44 447
O A AtH| 266,146,000 /128 *1/30% 15 11,090
03 RIHAZZ A E 56,073 46,960 9,113
O =Xtet=d 56,073
- 33 1,139,920& »2H x12& 27,359
- J|ZE 1,419,920& *60%*2H 1,704
- tssg 1,440
bl < Xt 40,000& x2H =128 960
=S 20,000& x2H x12& 480
- JIHIE Z&HI 30,000& x2H «12& 720
- HHF A 110,000& »2H «12& 2,640
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- gdltmast=g 52,0323 x2H x25 2,602
- 2888 4,849
AA2EE 51,221,568& 2.54% 1,302
=SSR E=s 51,221,568& *4 . 5% 2,305
NEEEE 51,221,568& *1.3% 666
SMHEEE 51,221,568& *1% 513
LI AEE 1,301,028% %4.78% 63
204 M2 AH 24,540 15,900 8,640
02 Ma=2 x| 16,740 11,100 5,640
O A2 x| 16,740
- 6= 155,000& »2& » 123 3,720
-72 140,000 x 18« 12& 1,680
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O NegEes2as 100,000 x1E *12& 1,200
JHI(FXE EE3) 39,824 28,416 11,408
=ZHI(=XE SE3) 39,824 28,416 11,408
201 B2 11,024 9,216 1,808
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O FXUFHSLIN 257 =2 24|
7,000 8 x40 2,240
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01 =LHOYI 28,800 19,200 9,600
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